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                   ,                     

                                                               त               त  
       त                                         त  ठ        छ । 

                                 ठ                                त                
             त          त                      (     )                   त     
             छ             त            । 

 त                      ७५०           त                          त            । 

         त                                   छ                                  । 

            त     त             त                      त  त    त                
          छ   ।   त ,     त             ,           ,                          त   
            त         छ   । 

          त          त          त                                     त    
       त                        त            ३५                               
                छ । ‘                                               छ        

     त        छ,’                           त                       । 

  त ,        ठ                 त     त                        १०              
      त                              छ ।                     ,    ,     ,      त   
               ÷                  त     छ ।       ,            ,       ,     , 

          त   त              त                त             त                   
       छ । 

                    ठ    ५                       त           त                   

       त                                                    छ ।         ठ           त   
                       त       छ ।                ठ         १५                      
                                         त                                          छ । 

                                                                           त      
          त           छ ।                                त                            
          ।                                     त                                   

        । 

     ठ       त                                 त                      छ          

               ठ           ।      ठ                            त         



                                    त       छ ।                                
           ठ                     त          त         । 

                                     त                               ठ                

                                          त       ।                           

     त                               ठ                       । 

      ,      ठ                                            ठ                      

                   ।                                     त        । ‘           

  ठ         त      छ ,              छ                                             

     छ ,’      ठ                      त   । 
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                  –                      अब               

           
                                   त          त                               छ । 

           त                                                                     

                 त          त                            । 

                                             त                                   त 

            त              त   त                                             । 

                                                       त          त             
              त   । 

            छ                           १००                                त             
 त                त                         त                                          
                                                              त   ।                 

           त                       त    त     छ                                    

                            त             । 

                                                                               

                                                    त                त            
                            । ११                         ०   त त                  
            त                                     । 
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अ                                  अ              
           

                 अ            ३५                     
                            त        त           त                            त   
       (        )                   छ । 

                त                                         त                 ठ    
                      त              ३५                                         त 

                              त                                    ।    त         
                                       छ । 

             त                                                       त (         

       )    ।                 त                                            । 

      ,        त     त  त   (   )                                         त    ५ 

     छ            त  त              छ ।           त                   त त        
            छ ।                              छ । 

   त ,   ठ    ५                              त                                        
              त                                                             

त                                     छ । 

                               त   त                                        
                                                 छ । 

   त               त            त                                    त        
  त                       –        त                                        त 

                   त   । 

  ठ                                          त   त                     त     
                 त                                        छ   । 

            ,       ,     ,   त   त,        त  ,                          १०     
                         त            त       छ । 

                                         त  त                          त      

  ठ         त             त   । 

   त                                           त                               छ । 

                                                                  त                



            त                             त                             
             ठ                 छ । 

                    त          छ                                                     
     त        छ । 

                  अ           ठ  

              त         त                                                    
                    ठ                  छ । 

            त             ,           ,                          त             
  त                    छ   । 

       त                                             त                               त  
          छ                                  त  ठ           । 

                                         ठ                                  
        त     त                                      त   । 
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        त         त                                                      त  ठ  

      छ।                            ठ      त     त  ठ          । 

           त                                    ७    ५०           त              
                      त                                          छ              

              त     त           ।     त     त             त             

         त  त    त                          छ  । 

  त      त             ,           ,                          त             त     

    छ  ।     १     ६०                  त                                          छ     
                                      छ  ।  छ                         त        
                                      त            त                             
     छ।     त                            त      छ। 

   त             त           त                        त             ३५               

                                छ।    त          त          त                    

               त                    त                                                
छ  । 

                    त     त                    १०                    त           छ। 

    त  त            ,    ,     ,      त                               त     छ। 

                            ठ         ,       ,     ,   त   त,        त  ,             
             ८                          त            त       छ। 
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          त        त                   त              :         

           त                                                      (     )                
          छ ।                             त                 त         ,           त           
                        त                 त              ।                

    त            त                             त                     त     
                                                 ।                                  
        त           । 

 

        त               १४०           त            त         , ३              
       , ७    ६            त            त                                   छ । 

     ४१०                           , ११    १०                    , ५३६              त   
                    ३                     त         छ   । 

 

       त            त                                छ ।           त           
             छ   ।        ,          ,          ,         ३        त              
छ   । 

       त                        त                            त               
                     छ     । ७५०                   त                                 
            त                     त                                                
     छ ।             त                छ                छ   ।         त         
                                 त           ठ             छ । 

 

                त                                           त                    
                                । १                                                  
                                                      त                             

                                । 

 

  छ                                                    त                      
त                                          त  ठ             ।   त     त   
           त                छ ।      त                                 छ ।   त 



  त                                                                  त     

   त                          त               त            छ । 

 

‘        त                           त     त          त         त      त            
   छ,’   त              छ, ‘     त               त                          त 

             छ ।’         त                                         त      
  त               छ । 

 

        त                     त          त                                    
            छ ।               त:                 त              छ  । 

 

                       त      त      १३    ८०         छ ।              त             
                                     त   ५    ८०              छ ।    त    ४    ७० 

                त      त            छ ।       त                               त         

    त          त                                                 त   छ   । ६० 

                         ३                                                           त   
            । 

  



cleofg, 2072÷11÷25 

  ब                                         ,                 
           त                                                                                 
             छ   । 

             त                                                                       
               त    त     त     ।               त                              त          
                                         त                त                     त           
छ   । 

                                                          छ ।                                
             त                                त                                           त १४ 

                     त                                   छ   ।                             

     ‘  ’,        ‘ ’          ‘  ’                ८६              त                                    

                                            छ । 

 ०                       त               ५                                            
             १                                छ     ।                ७५   त त              
                                    त  छ   । 
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                            ठ             
                                                 त     .  ठ               त         
     छ । 

       त   ०           –     –                                    त  त             त       
          त            .  ठ               त                                         

                     । 

     त                         ,      त                                             

          .          १७          त    . त         ७              त                       
               त   । 

                                                                                          
             त       छ । ‘         ४०            त   ५५                                        
                            त      छ’,          ।                        त          त   

                          त     छ ।       ,    त,    त                                   त   
                                                        । 

                                     त                               त     त           छ । 

                                                        त           छ । ४                 –
                                    ,              त                                   ११४ 

ठ                    छ   । त                            त                  । 

                                              त       . १३          त   १०                   
  त       छ ।                    (     )                      त                             
               त   त                     ५०   त त           छ ।  .          ०              
                                                                            ठ           छ । 
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                   अ           
 ०७१        त                त                त               ठ          त               
     छ ।           त     त                                                      
छ    । 

                     त    त                त                   त               
                          छ । 

                                                                               
त       त                                       छ ।           ५       ४            
                     छ ।                            १        ३                 

                            छ ।  

                                                    छ ।                         

     त        छ  ।                                                           त 

                त               छ ।                        छ ।        
                    छ ।                                                             
            ।        त                                      छ ।                     

                                                      ।                      ५   त त 

                                               त   । 

                     त   १       ६                     ।            त                  छ 

  त            छ ।    त  त            त  ५         त      छ  ।        त            

              त      छ ।                                                    

।          ,                                            त    त       छ ।        

                              त           । ३     ६६                       
                                 ।                 त      ४            त      छ । 

   ठ         त                            छ  ।            त      त                    त        

              छ ।                            त            त      त                

                छ । त                                     त छ ।           त                
               त   त                            ।  

-      ब      
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               –१    , २               

      त  

                          – १        त            त                          छ ।    

त                                                        त            त  ८       

     ८७                               –१                           ।  

५                                     १३                –४०                       
                                    त      –१                  –             छ । 

        त                                           त     त          त      त     

                त    त                त             । “                          
                  –४०             त            त                 छ,        त     

             छ,”         त                                     । 

                –१      त          ८     ०                 छ ।                       

३५        ,               ६         ,                 ५    ४               ११         

                            छ ।  

    –                         त                               छ ।           ३    ४१ 

                 त  छ ।                 त     ३३        ,                , 

        ७                ७                   त          छ ।  

          त           –३    १       १     ७      त            त                        
छ । त                    ६      ३    ६८        ,                    ,         १५ 

       ,     त     ५    ५५                    ५      १    ६६                  त  
        छ ।         १६      ५    ७८              त            त            –४    
         १६      ५    ४७             ३१              त            त                
        छ ।  

                –५        ३      ६    ३८                  त  छ ।  त       १    ३३ 

       ,    त     ८    ७७        ,                 ४     १,        ५७                    
       १    ४                   त                        छ ।  

१७      ७                    त            त            –६           १    ४            

          १७      ६    ६१         त          ६    ८५           त            –७    
       ७      ५    ६५                          १     ०           त                
        छ ।  

                                 –४०             त            त  त                   



          १५- ०                              त                  त           छ   । 

        त            त                                                        
 त     छ   ।                                    –४०          १०-१५               
                                      छ   । 
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  ब                             अ          
              १    ३                                                         
   त      छ  । 

                       –७                                                     । 

त ,      त                               त   त                    छ           

                         त        । 

           त          ,                     ,                                      

            छ                         त           त        ,         ,    

        त                     त                           त          । 

                 (          )                त  त त   त   त          ,        त   

       त                                                                  । 

                                   ११                           छ    ।   त 

                                   त                                                 

                 त                    त                                         
      छ। 

                             छ                                            

            ,                                         ,                   , 
                                              त                             । 

छ                                                                          

त                                                                       ।         

                                                 छ                          

                                                                                  
              त             त       ।               – ‘  त                             
         त                                   त    छ         त                         

                     त            त      त                      त     छ।’ 

                                          १०                        ।          
                                        छ। त , ठ                     

          ,             ‘          ’                 ,               त        
         त                                        छ। 



                                 ÷                                                
           त  त त   त   त          त       । ‘                            त       
१०   त त           त   त                ।                          त  त त           

     १०   त त       त   त                      छ।’ 
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  ब                            

                   

                        १३             त              ‘             ’             

          छ            त                                                         त 

             छ  । 

                                     ०                                    
          छ                      त                 । 

                                                १०  त        छ।                     
               ७५   त त            ।                                  त         

           छ                         त                              त  । 

‘                                  ’,            , ‘             ठ                 , 

                        त                         त            ।’              
   त                 त                                                            

   । ‘                त                                         ’,         । 

      ,     , त        त                त                        त                 
                                  ।                                               
छ।           ,            ,          त                                      
                               ।                                    छ       
     त   त                                                       । ‘             

                    छ’,              , ‘             ठ                          छ     

          ।’ 

                         ६०                     छ।               ३           

           छ।  ८                      १३                  ठ                         
                          छ।                       १३    ,                     ११ 

     त                             । ‘          त                                     
       ’,         , ‘                     त                             छ।’ 

             ११      त                                  छ। १३                            

                           त      छ।                                         त      
                        छ। 

                                                        त                        
    ।                   त              त                                  त   छ  । 

http://annapurnapost.com/news-details/92984


 ०६३                                                                      त छ। त   

    ५            त                                   । 
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५                                  अब ब   ब    
             ५                              त                                         छ ।      

                            त                                                              
  ठ                                                              त                               

             । ५                                     त   (       )      त                 
     छ                                           त    त                               
                                                                                    । 

                                           त            ठ                          
                                                                                              
            ।  

  ठ                       त             त                 त               त              

                ३५                          त                               त                   

              त       त                      छ ।  

  ठ          त            त                               त          त              
         –                         त           छ ।                    १     ७          

                                      ।                                                     
छ ।  

      , ७    ५०                   त         त                                        त   
                       त                           त        त त              ,           , 

           त          ,                         त                 त             त     त  ठ  

      छ ।     त                           त                                               
            ।  

     त           त  (     )                             त            त  (     )     त     
                    त                छ   ।  ०६८                                         
                      (        )             त      ६                                    

                     त          त    त                     । त ,                   त       
               छ   ।           त      त                        ,             त              

छ              । छ                त             १७   त त       त             त     
        त                          । छ                       त  त त          त            
                 ।  ५   त त                   छ              त                          

            त   त त          त              त              ।                             
       छ              त                         त  ठ           ।  



  ठ                             त   त                          त                           

                        ।   
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                                    अ          
                १३                                                 त      छ   ।        
                –७                                                             । 

           त        ,       ,                                                  छ      
                   त           त        ,        ,            त                     त     

                      त           ।      त                   त     त   त                      छ 

                                             छ            त     छ । 

                  (          )               त  त त   त   त           ,        त           
    त                                                         ।                       

             ११                           छ   । 

                              छ                                                   

     ,                                          ,                   ,                

                               त                              ।  

छ                                                                  त                    
                                                । ‘                                       

                  छ                                    ,                              
                      त               त           छ ।’         , ‘  त                         
   त                                       त         छ        त                        
                     त            त    त                      त      छ ।’ 

                                  /                                                         

 त  त त   त   त                       । ‘                            त       १०   त त     
      त   त              ’,          ।                                     त  त त           

     १०   त त        त   त                      छ ।                                      १०     
                    ।                                                  छ । ठ         
                ,              ‘          ’                 ,               त        
         त                              । 
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  ब                                         

                       –७                                     १३                  

                        त      छ   । 

           त          ,       ,                                           छ      
                   त           त        ,        ,           त                 

    त                           त           । 

     त                   त     त   त                      छ                         

                     छ । 

                                त  त त   त   त          ,        त              त   
                                                      ।                       

             ११                            छ     । 

                                        त                                             

                        त                                                छ ।       

                        छ                                                   

     ,                                               ,                   , 
                                              त                              । 

छ                                                                  त          
                   Œ                                      । 

‘                                                         छ                   
                  ,                                                    त   
              त             छ,’         , ‘  त                             त             
                          त        छ        त                                          

   त            त      त                      त     छ ।’ 

                                      १०                        ।                 

                                 छ । ठ                         ,              
‘          ’                 ,               त                 त            
                    । 

                                 ÷                                                
           त  त त   त   त                       । ‘                             



             १०   त त           त   त              ,’          ।                  
        त  त त                १०   त त        त   त                     छ । 

छ                                                       Œ                     

                          त   । ‘         Œ                                 

          ,’         , ‘                                                         त    छ 

।’                                                छ   । 

      ,                                 –                                          
    त      छ ।           ११                           छ । 

         त                      ,     ,        त                             त            
     त                                                ।                              

         ,       , त            त              छ ।               त                    
               छ ।                  –                          छ । 

             –      (       )                                      छ । त    
     –त                        त        छ ।     ,           त        (      )      –

                    छ ।  ०                                ६३                 

    छ   । 
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    १  ५                             त                                                    
                ।                          –  त                               त त    छ   ।      
           त                                                     ।              छ                 

                                             त                               छ   ।          
                       त         त                                         छ   ।      
                                     त        त त त              ‘  त                   
     ,       (     )’                               छ ।   त त छ,            त            त 

                                        छ                                 : 

           अ                   ब          ,     ? 

   त               छ                   त                  त                   
त        ३               त                               ।                      
                                      त                                           
                                ।                            त  त         । त        
३           त      त      त      त                            त               त  

                       ।      ००८       त                           त              
    ।      छ             त                त                             ।     
               त              छ                               त        ।     
                            । 

                              ? 

                       छ    छ ।                              त त    त         ‘   ’ 
                छ ।                 ठ      त        त   छ           त           त त   
                            छ                        छ  ।                        
           त                त त      १०       १०                   त                
       छ ,                   छ                                             ।     

                 ,           त                        त         त                         
                     छ । 

                                              ? 

१०       १०                त    त      त     त ५                                     



          त        छ ।      ०३०         ठ                         , ठ   –ठ    
                                  ,         त  त त                             
                       त          त                    छ  ।   त              
      त                         छ । त ,               ५                        त          

।                                      त    त                                          
                             त                 छ ।                    त    त            
           छ  । 

                                                          ? 

              ‘ त                                          ’                छ । 

           त   त                                      त                     ,    

    छ   । ५/५                   त                       छ  ,                           
              छ  । 

                                           ,                         ? 

                      त      त                        त       त          छ  ।    त   
     त     त                                    छ ।  त                                     
       त                             ।       ,             त          त       छ  , 
 त                        त             त                     त                     
             त           ।    त      त                           त                  
                                                                 छ  ।           
               त                                                               त      त   
  त         छ ।                                                          त       त  

                                    छ  । 

                                  ? 

                 ठ        त          त           त       ठ   ठ                       
         छ   ।   /             ,           छ                  ,            छ ।         

      (      )        छ  ।                                                     छ, 

त                                त      ।        ,         त        त    त            
               त                                 ।          त                    
       त           त                                  छ । 
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     –२                          
४            त                                 
                                                     त           त                  
                      छ ।                     त                त                    
                           ठ                      । 

      छ   छ                            (          )                       
                  त    त –                             । ४            त       
                                      ठ                       ।                  
              त            । 

                त            १४          त              छ ।                   

                 त                   छ   ।                                           
                   त                                                        

                                       छ । 

             त   ठ                                                               
                          त                                                     त 

           त                              त                                          
 त   ।                        त                                                त     
                    त                 त                    त   । 

  छ                                                      छ ।                      
                       ५०                           ‘ ’        त                 

         छ । 

              त              १०          ०   त त                    छ ।    त ,       
                                                             (        )    ५ 

              –१                        छ ।                   ८०                 
                ०   त त       छ । 

                                 ७    ५०                   त         त         
       त                  छ ।              १     ६०                                   
             त          छ ।            त                             त              

    त  (     )     त            छ । 

  



sflGtk'/, 2072÷11÷30 

                              
                                       १४                      त                    छ ।          
                                 ५०           त        त                             छ ।    
                                                                     छ                 

                 । ०७६                                                                 
                             त   । 

     १४                                                ।                                      
          ।                  १                                       ।                    

                  ४             त    ठ            छ । 

                                    छ ।             ४                   त                 

४                      त                        छ ।                              ४    १       

    छ ।             छ     छ                                                        छ ।   त     

           त                     छ ।      त                 ७       ४                            
                           छ ।                  ७५             (३०   त त)             १ 

    ७५             (७०   त त)       छ । 

              ११       ८५           त                 छ ।            ४       ४,        
        ३        ,        १     ३,                १              त                     छ ।    त  
                         ५०           त         त                  छ ।                   
                                   त                                 त   ।                
                                  ‘           ’                          त                 
छ   । 

     त                        त                  छ ।      त                      त          
                    ४           त         छ ।                        त    छ ।               

                                                         त   ।            त      त          
                 ,                                           छ । 
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            १२३                 
                         १     ३              त                    छ ।                          

              त                           १     ३              त                    त        

        त  त        छ ।                 त           त                      त       

            छ                                        १     ३              त               
            त     छ   । 

                              त                 ,                                 त    
                             त              त             छ                           त 

                    त                  त   । छ                          त          

            त                        । ६       ४            त                  ‘ ’, ६० 

          त                   ‘    ’, १४       ८                            ४        ५ 

          त                                        त                         छ   ।        
                                       १     ३       ७            त         त          

                   छ । 

       त                छ     त                 छ               । छ                  
    त                                                ,                            
    त                          त                            ।                           
           त                                 छ   । 

छ          त       त                ,                 त       ,                  , 

                           ।          त          ,              त                      
                     त                छ । 
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            १४.            त                     त                          छ ।     –१    
                                                              ३, ४   ५                     

     त                  ००                                                     छ । 

                                                                                      

     १           त                   छ   ।                त             त                       
                                                                    छ । ।  

                           त                                                                
                                 ।      ०१                                            त 

                                           ।                ५०         त           त         

           त                       ५१   त त         ४    त त                          

                 त              त      छ । 

                                     त                                     ३          
                     ४    त                         ००                                   

                        त                 ।  

                                    ११.८५              त                  छ ।             
           ४.४        ,              ३.         ,      –१     ३                          १         

     त                     छ ।    त ,                            ५०           त         त        

        छ । त ,                                                      त                   
  त                                         ।                                           त   
                         त                 छ   । 

                 त                        त                  छ ।      त                    
  त                                  ४           त         छ                            त 

        छ ।                                             त     त                    त   

                     त   छ   ।               त      त                               छ । 
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 ठ           ब          –                     

       त    
      ब                  ब         

                     ८        ठ         त             –                                
छ ।                             (१०        )    त      त                   त        
            छ ।                         त     ५                             त        
     छ   । 

      –                     १३         त       ।                                 
   त                                                                 छ                
।        त                 ठ                     त                        त         

      छ ।                            ठ ०७५                     छ। 

०६७                                           त     त                  । ०६         त 

०७३                                ठ                         ।     छ           ठ     
    त  त          ठ            त     त                 । 

     ठ                                              त                                  
       ठ            त त               छ                           ।                 
                  ८०   त त           छ ।        ,            ठ               
         छ ठ          त                                        छ । 

     अ                          
ठ                      त                       ,          त      त         
              त                    छ ।       –                       ४०   त त     

                         छ ।                                            (४० 

        )    १     ५                      छ । 

     ठ      ४०              त                                    त   ।              
                                त   त         १                       त   ।             

                                            छ   ।                               त   
                                     त   । 

   त                            छ         –१                 त         ०७१       
             त             ।                                          ०७           

    ।      छ              १         ठ       । 



                अ       
                    त      ४       छ ।            त        छ                    

४०                   –१, ३०                   ,  ५                 , ११           त    
        ,  ४.१                   , १०                             त                  
      छ ।                                           छ   । 

                                                                त छ ।        , 
            त   त                   त   छ   ।                             

    छ            त  – त                                              त   । 
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 ठ           ब          –                     

       त    
      ब                  ब         

                     ८        ठ         त             –                                
छ ।                             (१०        )    त      त                   त        
            छ ।                         त     ५                             त        
     छ   ।       –                     १३         त       ।                                 
   त                                                                 छ                । 

       त                 ठ                     त                        त               छ । 

                           ठ ०७५                     छ। 

०६७                                           त     त                  । ०६         त 

०७३                                ठ                         ।     छ           ठ     
    त  त          ठ            त     त                 । 

     ठ                                              त                                  
       ठ            त त               छ                           ।                 
                  ८०   त त           छ ।        ,            ठ               
         छ ठ          त                                        छ । 

     अ                          
ठ                      त                       ,          त      त         
              त                    छ ।       –                       ४०   त त     

                         छ ।                                            (४० 

        )    १     ५                      छ । 

     ठ      ४०              त                                    त   ।              
                                त   त         १                       त   ।             

                                            छ   ।                               त   
                                     त   । 

   त                            छ         –१                 त         ०७१       
             त             ।                                          ०७           

    ।      छ              १         ठ       । 

                अ       
                    त      ४       छ ।            त        छ                    



४०                   –१, ३०                   ,  ५                 , ११           त    
        ,  ४.१                   , १०                             त                  
      छ ।                                           छ   । 

                                                                त छ ।        , 
            त   त                   त   छ   ।                             

    छ            त  – त                                              त   । 
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                अ            
                   
                               त                    त                   त        
       छ।                त                                  .               त            
                                          ७   त त             ।        त         
        छ                         त                 । 

                            ०७१                                             ।        त 

                त   त           छ                                      । 

                                 ७   त त                                        
           । ‘               त               छ’,            , ‘                    त   
                      छ ।’ 

            .               त                        ।        त                  छ 

                                       ।  त   त                              

                                               ।     त                 त     
               त                        । त ,        त       ५०   त त              
    छ                  । 

        ,     ,             ,                            त                 । त   

                                                           छ।   ठ                   
                    त        ।      ,                 त                         
                                                     । ‘                       

छ  ’,         छ  , ‘                                               त         

                                त      छ।’ 

                        छ    त                    छ। त       ६६           त   
                                                              त                  
 त     छ। ३०   त त     त त         ७०   त त            ठ                  
                       । 

                                             त               छ।          

          त            त        छ।                           ५४              

                     । ‘                        त               छ’,            , ‘         

                      छ।’                   त                   त                  
               त    १३                                छ।         त      
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                                          त                 ।    त              त    
                       ¥                              । 
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                          अ    

      छ       

                     ४०           त                   त                          
     छ।                       त   ठ                                          छ 

                                त                                        त     

         त           ठ       छ                                        । 

               ठ                             छ।                        त       ७ 

 त        ४५                                   त          छ। ठ                 
            त                     त                  त                                
                       त                            । 

‘ठ                      त            छ,             त                                   
         ’,      त            , ‘                                                  
            छ।’  ०७१                               ०६७                         
              १०   त त                 छ।                त                
                           ,                   ५                              छ। 

       ,      त                                                         छ  ।             
                                                   त                     त        
     त                                       छ। 

 ०६७       ३                                                      ठ       ४०         

  ¥       छ। ‘                  त      १  ८               ।                     

     ३      ४०           ’,      त            ।                          त        
                                                         त                त       
                             –३                            त  । ‘                  

        त                त    छ ।                                ’,         , ‘       
                        छ                                छ।’                      
     ६                     छ। 

                           त                       त         ।                      
                       त                            त                           
 त  । ‘                                                       छ।               
                        छ  ’,         , ‘                                       
                    छ  ।’ 
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                        त                                   ०                        

            त  त     –                      छ।            त                  

           त                     त                    त                              

                           त         छ। 

 
  



12v/L * \̂sd\, 2072÷12÷01 

                           ६      ब         

                         त                त             (     )    छ                      छ 

।  

         त       ११      ३०  त         त                       ।                 त   
                                         छ     ६        ठ                         छ ।    

    ८६      ३ ४                              त                      त   ।  

        , “         त                                                                छ ।      
                छ ।”  

                 ६४                                             ।                      

           त                   ३३      ४                           ३३     ४        ५      
     छ              ।  

                                       त ५      १३  त                                छ । 

                                   त          ,               त                               

               त                   त                 ३       ४     ७३      ५००          ३ 

     ४      ७३५                   छ ।  

                              ठ     ६८      ३ ५      त                                 । 

  त                                                    त                       त      छ । 

               त              त          त  ५०            त  ५००                   

                         ।  

                                                                  त                        

                               ।                                         त          १११ 

          त       ।  

  त                त                     १७             ५३                     छ ।         
             ठ                 ८३       ३५                   छ   ।  

             त            ७१      १७     ५०              ७१     १७      ५००           

छ             ।      त         त  ५०            त  ३००                                
            ।  

                १४       ८           त                     ४        ५           त    
                              छ ।                     त             ७६१      त           

                      ।  

                                             १       ७७     ५०                   छ         
        ठ               ।                               त  ५०          त  ३००         

              छ   ।  



                         त  ५०            त                                        छ   । 

               ३      ६५                  छ         छ ।                               त  
                        त ५      १३  त                                   छ ।                   
       त                            ।  

                        ६८   त त            ५८   त त            छ ।                   

      ०१           त                        छ ।   त                  त               ०१८    
                                  छ ।  

–            (    ) 
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       त         त               त                 त                               त  

                                 छ   ।        त                                         
           त       त                                  ।  

        त                              त                                              
                                    त              ।  

                 त           त                 त                    त              त त     
१०         त                ।  

                                 त                                                      

                           त   ।   

          त            त                         त १०  त              त                 

                त ठ                       त                                               
       छ ।  

                                                                              त           

                       त           त     छ   ।  

    त                          छ         १०   त त        त                   त            
                                   त   त                          ।  

    त              त        त          त        ३०               त       १०              , 
               त                                                                   

     त                          –     त                               छ ।  

        त                   त                  त            त                         त     
         छ ।                          त                                                

                                                                                ।      
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४०                                                         
                   

                   ४०           त                      त                           
    त        त         छ ।  

  त     त                                 त                                           
                      ,         ,            ,                             त          त         छ 

।  

  त                 त   त       ७                त      ७५   त त           त       ५ 

  त त                                छ । 

                                               त                     छ ।   त           

                 त               त                   त                                   छ 

। 
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     ब           

                         त                त             (     )    ६          
            छ ।                                      त                               

११      ३०  त         त                      । 

                त               ६     ६        ठ                         छ । १     

८६      ३ ४                                                             छ   । 

               ६४                                                    ।         
                        त                 ३३      ४                           ३३ 

    ४        ५           छ              । 

                                       त ५      १३  त                       
         छ ।                                    त        ,               त       
                                     त                   त                 ३       ४ 

    ७३      ५००          ३      ४      ७३५                   छ । 

                              ठ     ६८      ३ ५      त                            
     ।   त                                                    त               

        त      छ ।                त              त          त  ५०        

    त  ५००                                            । 

              त                    १७             ५३                     छ ।         
             ठ                 ८३       ३५                   छ   । 

             त          ७१      १७     ५०                     ७१     १७      ५०० 

          छ             ।      त         त  ५०            त  ३००               

                             । 

                १४       ८           त                     ४        ५         

  त                                  छ ।                     त             ७६१ 

     त                                 । 

                                           १       ७७     ५०                   

छ                 ठ               ।                               त  ५०          त  

३००                       छ   । 



                         त  ५०            त                                   

    छ   ।              ३      ६५                  छ         छ ।                 
              त                          त ५      १३  त                            
       छ ।                          त                          । 

                        ६८   त त            ५८   त त            छ ।         
                ०१           त                        छ ।   त                  त   
            ०१८                                      छ । 
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४०                                
                   ४०. ७                             त                          छ ।  

                                   त                                 त      ६                
        त                             ।                       त    ,     ,        ,          

                     ५      ५                    त       छ ।          ठ            त          
                                      त          त         छ ।  

७            त                ७५   त त     त   ५      ५                                    
                           ।     त               –४                                    
                                                   त   ।  

१     ७५                                    त   ठ १                त                   त        

    त  (     )         छ ।                  छ                                          त   । 

 ०७७                                         ३५.७६                   त               
                छ ।   
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                                   त                                          
       छ । 

                     ४०           त                   त                        त   
                                     त              त           ठ       छ            
                         छ                                              । 

                      त   ठ                                          छ      

                  ठ              त                ठ                             छ । 

                            ४५                                   त          छ । 

ठ                             त                      त                  त            
                                           त                             । 

‘ठ                       त            छ,              त                         

                   ’,      त            , ‘                                        
                      छ ।’ 

 ०७१                               ०६७                                       १० 

  त त                 छ ।                त                                 
          ,                   ५                              छ ।        ,      त       

                                                  छ   ।                                 

                               त                     त              त               

                        छ ।                            ६                     छ । 

 ०६७       ३                                                           ४०         

           छ । ‘                  त      १  ८                ।                     

     ३      ४०           ’,      त             ।                          त        
                                                         त                त       
                              –३                            त   । ‘                  

        त                त    छ  ।                                ’,         , 
‘                               छ                                छ ।’ 

                                            त                            त    
                        त   । ‘                                               
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        छ ।                                       छ  ’,         , ‘                  

                                         छ   ।’ 

                        त                                   ०                        

            त  त     –                      छ ।            त                  

           त                     त                    त                              

                           त         छ । 
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                       अ             

                      त         त                 त               त                      

        त                                   त         छ ।                    त            त     
त                                      छ                       ।     त                    

     त           त                                             छ । 

                                                      त          ,     त   ३          १० 

                          ,     त                                त                           

                                त   ।                        त १  त                       ,   त ५ 

 त           त         १                         , ६  त                  त                  
         त १०  त                  त                            त                     छ । 

                                         त  त                  त                  

                                ठ          छ ।   त                 त              

                                    त                                         त     
        छ   । 

          त        त      ७                                त        छ ।                       त  
                                                          त   ।     त                          
                   त              ठ                                                      
    त                      त                      त   । 

                   त                       त     छ   । त                               छ 

त                                      छ ।     त                           त              
  त                त              त                                                       

                                             त                        ।  

          त   ३                                                     छ ।                  
                                            त      त                                         
              छ ।         ३                           । 

                                               त                                 
             ३             त            त                        ।        त        त       

       त     छ                                                                           

     ,                         छ                                                             

                            । त            छ                             । 

              छ           त                                                     त  

          त                    छ   ।  ०७१             १५  त                  त               
     ।               १५       छ           त १  त                 त                        



१८                      त ठ                   ,            त                           
               त         । 

               छ         
                                                                                    त 

             छ ।   त                                 छ                         त             
                                                            छ । 

    त                                             त    ठ                                   
             त   । “                 त                        छ                      त    

          त           ,”         , “                    त       छ,                             
                              छ  ।”                                                         

            त   । 

           ०७१                                            त     त    त          

               ।  त                                        –                          

                             ।                               ।  

                                     १५   त त                        ।           १५   त त   

            १०   त त      ५   त त                  छ  ।       त       ६४         छ ।      

                                        ६४             त          छ  ।                 ४० 

                छ ।                                                      त            
          छ ।                  ५   त त               छ । 
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          अ              

                                                                                    
                                                       छ ।                       
     त                      ११                                  । 

            ५       ३  त                                            ६     ६०      

                                   ४     ४०                                 । 

           ०      १    ३०                                                       
छ   । १    ४०      ५      ५                      ३           ६                   ३    

८         १    ४०                 १    ३०                                           
      छ । 

                  ०      ५०                              , ६०      ५      ५         
        ६      १    ३७           ६     ४        ६०            ५०                    

       छ ।                                                                छ   । 

                   त       १      ५                          १     १०             छ ।       
                   १०   त त                                                     

१०   त त                             त     छ । 
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                              ब    
                          त                                            त  त        
छ ।                 ३                त                                                      १ 

   ४                 ०, १३ , ३३   ११                                                  
    –      ४                                                        छ   ।                  

                              –            १    १०                           
                                  छ ।                                          ५०   त त 

                  छ । ‘                                      छ,’         , ‘ठ               

                छ              छ  ।’ 

                                                                          त    

                                         त               त   ।                      

ठ                                    ।    त                     त                

                ,                                              ,    त            
                                           त           त                   
      छ      –                                                  छ । 

                         ०, १३ , ३३   ११                                             

              त                                          त     –          ठ      

                ०        ठ           छ ।          ठ              ०१८           
                     ३०     ०१६        त          । 

                                                  त     १०                    
       त                               ठ               छ ।                 

                        ५                              त        छ । ४            
                 त                   ५०   त त        छ ।                            
                         ३                   , १४                  , ६४           
             , १४६                 , ३८                  ,    त                 .४० 

   त  छ         ४५०                –                                                
      छ । 

 


